Geo B
Worksheet H

Solve the Following.

L A pllot, Flying at an altitude of 5000 Feet, wishes
To approach the numbers on a runway at an
angle of |0 degrees. Approximate, t© the nearest
100 Feet, the distance from the airplane to the
numbers at the beginning of the descent:
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6. You are flying a Kite at an angle of 70 degrees.

2. A guy wire is attached to the top of a radio
antenna and to a point on horizontal ground that
Is H0.0 meters from the base of the antenna. If
The wire makes an angle of 58 degrees with the
ground, approximate the length of the wire.
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3. A builder wishes to construct a ramp 24 feet

long that rises To a height of 5 £t above level
ground. Approximate the angle that the ramp
should make with The horizontal.
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4 The tallest man made structure in the world is a
tower located near Fargo, ND. From a distance
of | mile on level ground its angle of elevation is 2|
degrees. Determine its height to the nearest
Foot. (5280 £t in a mile)
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S. Aladder 20 feet long leans against the side of a

building, and the angle between the ladder and the

ground is 22 degrees. Approximate the distance
From the bottom of the ladder to the building.
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You have let out a total of H00 fFeet of string
and are holding the reel steady 4 feet above
ground. How high above ground is the kite?

. The Falls Incline Railway at Niagara Falls has an

angle of elevation of 36 degrees. The railway
extends a horizontal distance of about 138 fFeet.
Find The height and length of the railway.
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8. You measure the angle of elevation from the

ground To the Top of the building as 32 degrees.
IF you are standing 100 Feet From the base of
The building, how tall is The building?
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